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(1). (20 %) Solve the 6™ order linear homogeneous differential equation 3O+ 2y 4 B L2 9y

= 0, by assuming y = ™.

(2). (15 %) Solve the nonhomogeneous differential equation y” - y =2¢&* + o

(3). (15 %) Solve the initial value problem

y' + ytanx = sin2x,

(4). (15 %) Suppose the solutions of Ax = b are

Ifb= [3,5.8]", what is the solution of x ?

(5). (15 %) Let b =[2,2,8]" and matrix A as

n0)=1

01 [o 0] [0

All|=[1] Ajo|={0

1| |0 1] |1
310
A=|0 1 0
4 2 1

Compute A'®b. (Hint : use eigenvalues and eigenvectors)
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(6). (20 %) (a). Find the Laplace transform of Ar) (figure (a)). (b). Find the Laplace transform of g(7)

(figure (b)).
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figure (b)






